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ENGINEERING DRAWING

bathfu;jh Mªkbaxbathfu;jh Mªkbaxbathfu;jh Mªkbaxbathfu;jh Mªkbaxbathfu;jh Mªkbax
Time allowed : 3 hours Maximum Marks: 70
fu/kkZfjr le; % 3 ?k.Vs vf/kdre vad % 70

Note :

(i) Attempt all the questions.

(ii) Use both sides of the drawing sheet, if necessary.

(iii) All dimensions are in millimeters.

(iv) Missing and mismatching dimensions, if any, may be suitably assumed.

(v) Follow the SP : 46-1988 codes.
(with First Angle method of projection).

uksV %uksV %uksV %uksV %uksV %

(i) lHkhlHkhlHkhlHkhlHkh iz'u vfuok;Z gSaA

(ii) ;fn vko';d gks rks Mªkbax 'khV dk nksuksa vksj ls iz;ksx fd;k tk,A

(iii) lHkh ifjeki feyhehVj esa gSaA

(iv) ;fn dqN iSekb'k NwV xbZ gks ;k vlaxr izrhr gks rks mlds fy, leqfpr eku dh dYiuk dh
tk,A

(v) ,l-ih- % 46&1988 dksM dk vuqlj.k djsaA

¼iz{ksi.k dh izFke dks.k i)fr ls½

Roll No.

Series SHC Code  No. 68
� Please check that this question paper contains 4 printed pages.
� Code number given on the right hand side of the question paper should be written on the

title page of the answer-book by the condidate.
� Please check that this question paper contains 3 questions.

� Please write down the serial number of the question before attempting it.

� Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 4 gSaA

� iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA

� Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 3 iz'u gSaA

� Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

jksy ua-
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1. (a) Construct an isometric scale. 4
(b) Construct an isometric projection of a frustum of a pentagonal-pyramid, base-side =

40 mm, top-side = 30 mm and height of axis = 60 mm. When resting on H.P. with
its base on it, one of the base-sides is perpendicular to V.P.  and the axis is
perpendicular to H.P. Give all dimensions. 10

(c) A hexagonal prism with base side = 30 mm and height = 40 mm, is resting on H.P.
on its hexagonal base. One of its base sides is parallel to V.P. On the top hexagonal
end, a sphere of 25 mm radius is centrally placed. Taking their common axis
perpendicular to H.P., draw the isometric projection of the two solids. Give all
dimensions. 11

¼d½ ,d leifjek.k iSekus dks cukb,A
¼[k½ ,d iapHkqtkdkj fijkfeM ds fNéd dk leifjek.k iz{ksi cukb,] ftldh vk/kkj&Hkqtk 40

fefe] Åijh&Hkqtk 30 fefe rFkk v{k dh Å¡pkbZ 60 fefe gSA ;g H.P. ij vius vk/kkj ij
j[kk x;k gSA bldh ,d vk/kkj&Hkqtk V.P. ij yEcor~ gS vkSj blds v{k dks H.P. ij yEcor~
j[kk x;k gSA lHkh vk;ke nsaA

¼x½ ,d "kM~Hkqtkdkj fizT+e] ftlds vk/kkj dh ,d Hkqtk 30 fefe gS vkSj Å¡pkbZ 40 fefe gS] H.P.
ij vius "kM~Hkqtkdkj vk/kkj ij j[kk gSA bldh ,d vk/kkj&Hkqtk V.P. ds lekarj j[kh xbZ
gSA blds Åijh iM~Hkqtkdkj fljs ds chpksachp ,d 25 fefe v/kZO;kl okyk xksyk j[kk x;k
gSA buds lkekU; v{k dks H.P. ij yEcor~ j[krs gq,] nksuksa Bkslksa dk ,d leifj.kke iz{ksi
cuk,¡A lHkh vk;ke nsaA

2. (a) Draw to scale 1 : 1, the plan and front view of a square nut, taking nominal
diameter = 25 mm, keeping its axis perpendicular to H.P. and two opposite sides of
the square parallel to V.P. Give standard dimensions. 9

OR
Draw to scale 1 : 1, the standard profiles of a square-thread and a knuckle-thread,
taking pitch = 40 mm for each. Give standard dimensions.

(b) Sketch free-hand the front view and top view of a stud with a square-neck, keeping
the axis perpendicular to H.P. Take nominal diameter = 20 mm. Give standard
dimensions. 6

OR
Sketch free-hand the front view and plan of a double-head feather key with gib head
on both the ends, keeping its length parallel to H.P. and V.P. for a shaft of
diameter = 48 mm. Give standard dimensions.

¼d½ vfHkghr O;kl dks 25 fefe ysrs gq,] 1%1 dh ekiuh ij] ,d oxkZdkj uV dk Åijh n`'; rFkk
lEeq[k n`'; cukb,A blds v{k dks H.P. ij yEcor~ j[kk gqvk gS vkSj oxZ dh nks
vkeus&lkeus okyh Hkqtkvksa dks V.P. ds lekUrj j[kk gqvk gSA ekud vk;ke nsaA

vFkokvFkokvFkokvFkokvFkok
1%1 dh ekiuh ij fip dks 40 fefe ysrs gq,] ,d LDok;j pwM+h okys FkzSM rFkk ,d udy
(knuckle) FkSzM ds ekud izksQkby cuk,¡A ekud vk;ke nsaA

¼[k½ ,d quare-neck stud dk lEeq[k n`'; vkSj Åijh n`'; eqä&gLr cuk,¡A v{k dks H.P. ij
yEcor~ jf[k,A vfHkghr O;kl 20 fefe yhft,A ekud vk;ke nsaA

vFkokvFkokvFkokvFkokvFkok
,d double-head feather key  dk lEeq[k n`'; rFkk Åijh&n`'; eqä&gLr cukb,] ftlds
nksuksa fljksa ij gib-head cus gksaA bldh yEckbZ H.P. rFkk V.P. ds lekUrj jf[k,A 'kk¶V dk
O;kl 48 feeh yhft,A ekud vk;ke nsaA
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3. Figure 1 shows the parts of a foot-step bearing. Assemble these parts correctly and then
draw the front view, left half in section to a scale full-size.                                               25

Print title and scale used. Give  6 important dimensions. 5

fp=k 1 esa ,d ds Hkkxksa dk fooj.k fn;k x;k gSA bu Hkkxksa dks Bhd ls ,d=k djds] iwjh ekiuh ij]
ck;k¡ v/kZ dkV lfgr lEeq[k n`'; cuk,¡aA

'kh"kZd rFkk iz;qä ekiuh fy[ksaA 6 egÙoiw.kZ foek,¡ nsaA
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Figure 2 shows the parts of a gib and cotter joint for square rods. Assemble these parts
correctly and then draw the following views to a scale full-size :
(a) Front view, upper half in section 18
(b) Plan 7

Print title and the scale used. Draw the projection symbol. Give 6 important dimensions. 5

fp=k 2 ls ,d ds Hkkxksa dk fooj.k fn;k x;k gSA bu Hkkxksa dks Bhd ls ,d=k djds] iwjh ekiuh ij]
fuEufyf[kr n`';ksa dks cuk,¡ %
¼d½ Åijh v/kZ dkV n'kkZrs gq,] lEeq[k n`';
¼[k½ Åijh n`';

'kh"kZd rFkk iz;qä ekiuh fy[ksaA iz{ksi fpÐ cuk,¡A 6 egÙoiw.kZ foek,¡ nsaA


